Multiplying Two Binomials (J)

Simplify each expression.

1. (—6s® — 45?)(s* — 95%)

(7¢* +9¢*) (—q + 9)

rO

3. (—6w’ 4 2w*) (—4w? + 4w?)

W

- (—35% + 65%)(95% + 65)

Ut

(=50 —9)(9v +7)

6. (=3¢ — 6)(=9¢" — 3¢")

7.(Tm® + 9m*) (Tm? — Tm)

8. (Tn® 4 3n?)(—n* — 9n?)

Ne)

- (4y” = 8y")(2y® + Ty?)

10. (84" +69°)(79" — 7¢")
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Multiplying Two Binomials (J) Answers

Simplify each expression.

1. (—6s® — 45?)(s* — 95%)
— —6s" + 505° + 365°

2 (76° +9¢*) (—q + 9)
= —T7q* + 54¢° + 81¢°

3. (—6w® + 2uw*)(—4w® + 4w?)
= 24u® — 32w" + 8w

1 (=38 +65%)(9s* + 6s)
— —27s% + 36s* + 365°

ot

(=50 — 9)(9v + 7)
— —450% — 1160 — 63

6. (=3¢ — 6)(—=9¢° — 3¢%)
= 27¢° + 63¢° + 18¢*

7 (Tm? + 9m*) (Tm? — Tm)
— 49m° + 14m* — 63m?>

8. (Tn® + 3n2)(—n4 —9n?)
= —7n" — 66n° — 27n°

0. (4y° — 8y (24 + Ty?)
= 8y® + 12y" — 56y°

10. (8¢ +6¢°)(7g° — 7g*)
= 56¢" — 14¢° — 424"
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